Business General – Marketing

	Spotlight on the theory

	Price Elasticity of Demand (PED)

	The Price elasticity of demand (PED) is the responsiveness of changes in the quantity demanded to changes in the price. It is calculated using the following formula;

% change in demand



% change in price

The calculation of the PED will produce a value. This value will indicate the characteristics of the PED. For instance;

· Zero (perfectly inelastic) - quantity demanded does not change at all as price changes. 

· Between zero and one (inelastic) - quantity demanded changes by a smaller percentage than price 

· One (unitary elasticity) - quantity demanded changes by exactly the same percentage as the change in price 

· Between one and infinity (elastic) - quantity demanded changes by a larger percentage than does the change in price 

Infinity, perfectly elastic, buyers are prepared to purchase all they can obtain at a given price, but none at a higher price.

The following is an example of how to calculate the PED;

Original price = £8
Original quantity = 20 units
New price = £7
New quantity = 25 units

It is evident that a £1 fall in price results in a 5 unit increase in the quantity demanded. The price elasticity of demand is

% change in demand



% change in price

25%



-12.5%

= -2.00

(note for normal goods the PED will be negative. Therefore, we tend to ignore the sign. In this case the PED is 2.00)

Therefore, the price elasticity of demand is 2.0, which is termed as relatively elastic.
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	Spotlight on the theory

	Advertising Elasticity of Demand (AED)

	The advertising elasticity of demand (AED) measures the responsiveness of changes in the quantity demanded to changes in the level of advertising. It is calculated using the following formula;

% change in demand



% change in advertising expenditure

The calculation of the AED will produce a value. This value will indicate some of the characteristics of the good. For instance;

· A value over 1 implies a relatively elastic demand. In other words, an increase in the level of advertising will cause a proportionately greater increase in the demand for the good. 

· A value less than 1 implies a relatively inelastic demand. In other words, an increase in the level of advertising will cause a proportionately smaller increase in the demand for the good. 

The sign indicates how advertising influences the demand. For most goods, an increase in the level of advertising should cause the demand curve to shift to the right (D1 to D2).

The magnitude of the shift will depend on the value of the AED. For instance, if the AED is relatively elastic (greater than 1) then the change in the quantity demanded will be proportionately larger than the change in the level of advertising.

The following is an example of how to calculate the AED:

Original level of advertising = £100
Original quantity = 50 units
New level of advertising = £120
New quantity = 75 units

It is evident that a £20 increase in the level of advertising results in a 25 unit increase in the quantity demanded. The advertising elasticity of demand is

% change in demand



% change in advertising expenditure

50%



20%

= + 2.5

Therefore, the advertising elasticity of demand is 2.5, which is termed as relatively elastic. In other words, a 1% increase in the level of advertising will cause a 2.5% increase in the quantity demanded.
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	Spotlight on the theory

	Cross Price Elasticity of Demand (CPED)

	The cross price elasticity of demand (CPED) measures the responsiveness of changes in the quantity demanded to changes in the price of a different good. It is calculated using the following formula;

% Change in the Quantity of B



% Change in Price of Good A

The calculation of the CPED will produce a value. This value will indicate the characteristics of the CPED. For instance;

· Between zero and one (inelastic) - quantity demanded of good B changes by a smaller percentage than the change in price of good A 

· Between one and infinity (elastic) - quantity demanded of good B changes by a larger percentage than the change in price of good A 

The sign indicates if the goods and substitutes or complements. For instance, substitutes have a positive sign and complements have a negative sign.

The following is an example of how to calculate the CPED;

Original price of good A = £8
Original quantity of good B = 20 units
New price of good A = £7
New quantity of good B = 25 units

It is evident that a £1 fall in price of good A, results in a 5 unit increase in the quantity demanded of Good B. The price elasticity of demand is

% Change in the Quantity of B



% Change in Price of Good A

+25%

=

- 2



 

 

-12.5%

 

 

Therefore, the cross price elasticity of demand is -2.00, which is termed as relatively elastic. The sign implies that the two goods are complements.
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	Spotlight on the theory

	Price Discrimination

	Price discrimination occurs when a firm in an imperfect market sells the same good at different prices to different consumers. The advantage for the firm is that they can earn higher revenue for any given level of sales, and in turn higher profits.

The case of third degree price discrimination is where consumers are grouped into two or more independent markets and different prices. The markets may be separated by time, place or income. Examples include a child and adult fare on public transport, first and economy class on an airplane, different tariffs on mobile telephones, classified by time of day or the network being connected too.

There are some necessary conditions for price discrimination to operate successfully;

· The firm must be able to set the price (imperfect market with high barriers to entry) 

· The markets must be separate (there must no opportunity for people to re-sell goods to the consumers in the other market) 

· The demand elasticity of demand must be different between the markets. 

Interestingly, the use of third degree price discrimination may or may not be in the interest of the consumer. For instance;

What does the firm do with the profit?
The higher profit maybe reinvested to improve the quality of the product. If this occurred then the consumer would gain. However, if the higher profit was redirected to higher shareholder dividends then the consumer would loss.

There are now two prices?
The consumer in the lower priced market may gain by paying a lower price than previously. However, the consumer in the higher priced market may loss out as the price is higher than if the firm did not price discriminate.
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	Spotlight on the theory

	Income Elasticity of Demand (YED)

	The income elasticity of demand (YED) measures the responsiveness of a change in the quantity demanded to a change in the level of consumer income. It is calculated using the following formula;

Original Income

Original Quantity



* 



Change in Quantity

Change in Income

The value will indicate some characteristics of the good. For instance;

· Between zero and one (inelastic) - quantity demanded of good A changes by a smaller percentage than the change in consumer income. 

· Between one and infinity (elastic) - quantity demanded of good A changes by a larger percentage than the change in consumer income. 

The sign indicates the relationship between two goods. For instance, normal / luxury goods have a positive sign and inferior have a negative sign.

Many economists suggest that if the value is greater than 1, then the goods are likely to be luxury items (very sensitive to changes in level of household income, while is the value is less than 1 then they tend to be normal goods.

The following is an example of how to calculate the YED;

Original income = £800
Original quantity of good B = 20 units
New income = £900
New quantity of good B = 25 units

In other words, a £100 increase in income will result in a 5 unit increase in the quantity demanded. The income elasticity of demand is

Original Income

Original Quantity



* 



Change in Quantity

Change in Income

700

20



* 



5

100

= 35 * 0.05 = 1.75

Therefore, the income elasticity of demand is 1.75, which is termed as relatively elastic. The sign and value imply that the good is a luxury item.
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	Spotlight on the Theory

	Determinants of the Price Elasticity of Demand (PED)

	The price elasticity of demand measures how responsive the quantity demanded of a good is to a change in its price. The value illustrates if the good is relatively elastic (PED is greater than 1) or relatively inelastic (PED is less than 1).

A good's PED is determined by numerous factors, these include;

· Number of substitutes: the larger the number of close substitutes for the good then the easier the household can shift to alternative goods if the price increases. Generally, the larger the number of close substitutes, the more elastic the price elasticity of demand. 

· Degree of necessity: If the good is a necessity item then the demand is unlikely to change for a given change in price. This implies that necessity goods have inelastic price elasticities of demand. 

· Price of the good as a proportion of income: It can be argued that goods that account for a large proportion of disposable income tend to be elastic. This is due to consumers being more aware of small changes in price of expensive goods compared to small changes in the price of inexpensive goods. 

The following example illustrates how to determine the price elasticity of demand for a good.

The price elasticity of demand for supermarket own produced strawberry jam is likely to be elastic. This is because there are a very large number of close substitutes (both in jams and other preserves), and the good is not a necessity item. Therefore, consumers can and will easily respond to a change in price.
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What is the likely PED for petrol ? (select one answer)
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	Interpreting the Price Elasticity of Demand (PED)

	The PED is used to illustrate how the demand for a good will change for a given change in price. This is very useful for identifying the likely impacts on both consumers and producers.

A PED value of 0.3 can be interpreted as follows, a 1% increase in the price of the good will result in a 0.3% decrease in the demand for the good. Alternatively, a PED value of 1.5 implies that a 1% increase in the price of a good will result in a fall of 1.5% in the quantity demanded. It is clear that with an inelastic demand (PED = 0.3) then the change in the quantity demanded changes by proportionately less than the change in the price.

The PED is used to illustrate the slope of the demand curve. For instance,

PED 0.3 [image: image34.png]vvvvv
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A PED which is inelastic is represented by a very steep demand curve. Where any change in the price will always be proportionately larger than the change in quantity.

A PED which is elastic is represented by a very flat (shallow) demand curve. Where a change in the price will always be proportionately smaller that the change in quantity.
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If the PED is 1.3, then a 10% increase in price will result in; (select one answer)
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Interpreting the PED for consumers
Economists tend to suggest that the consumer wishes to maximise their utility by consuming the largest number of the highest quality goods at the lowest price.

A method of illustrating how the welfare of the consumer will change for a change in price with different price elasticities of demand is the concept of consumer surplus.

If the PED is relatively inelastic (less than one) then the quantity demanded will decrease by proportionately less than the price rise. Therefore, the consumer is worse of, as their total expenditure increases and they consume fewer goods. However, if the PED is elastic then the rise in price will result in a proportionately larger fall in the quantity demand, therefore, the consumer will be worse off.

Interpreting the PED for producers
Economists assume that the aim of producer is to maximise their profit, when profit is calculated as total revenue minus total cost.

The value of the PED can be used to identify the consequences on the firm's total revenue.

For a given increase in price, if the PED is relatively inelastic (PED = 0.2) then the increase in price is proportionately larger than the decrease in quantity. If this occurs then total revenue will increase. However, if the PED is relatively elastic (PED = 2.0) then the increase in the price is proportionately smaller than the decrease in quantity. If the occurs, then the total revenue for the firm will increase.


next (
Product Life Cycle

To be able to market its product properly, a firm must be aware of the product life cycle of its product. The standard product life cycle tends to have five or six phases:

1. Development 

2. Introduction 

3. Growth 

4. Maturity 

5. Decline 

It can also be shown graphically. The graph often has two lines - one to show the level of profit, and one to show the level of sales:
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Firms will often try to use extension strategies. These are techniques to try to delay the decline stage of the product life cycle. The maturity stage is a good stage for the company in terms of generating cash. The costs of developing the product and establishing it in the market are paid and it tends to then be at a profitable stage. The longer the company can extend this stage the better it will be for them.

next (
Market Segmentation

There are various ways to segment your market. These may include:

· Demographically - according to the age structure of the population 

· Geographically - by country or region or area 

· Behaviouristically - according to the nature of the purchase, the use the product is put to, the loyalty to the brand and so on 

· Benefit - according to the use and satisfaction gained by the consumer 

· Socio-economically - according to social class and income levels 

Clearly some of these are more relevant than others to Cameron Balloons. For a further analysis of this, why not look at the worksheet on market segmentation?

The firm can then use this information to draw up a segmentation map. This is a tool for analysing the market and helping to identify market opportunities. Any one of the criteria above could be used to draw up a map. For example, Cameron's may want to look at the behaviouristic split of their market. They could draw up a segmentation map:

	 
	Flying
	 

	Amateur
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	Professional

	 
	Sponsorship
	 


On this map they could plot where their various groups of customers tend to be. The amateur balloonists who buy balloons just for the enjoyment of flying would appear in the top left-hand segment of the map. Professional operators who take fare-paying passengers would be opposite them in the top right-hand segment. For more details on the nature of the customers and their different demands, have a look at the marketing explanation.

next (
The Marketing Mix

The marketing mix is the balance of marketing techniques required for selling the product. It's components are often known as the four Ps:

· Price - the price of the product - particularly the price compared to your competitors - is a vital part of marketing. There are two possible pricing techniques: 

1. Market skimming - pricing high but selling fewer 

2. Market penetration - pricing lower to secure a higher volume of sales 

· Product - targeting the market and making the product appropriate to the market segment you are trying to sell into 

· Promotion - this may take the form of point of sale promotion, advertising, sponsorship or other promotions. 

· Place - this part of the marketing mix is all about how the product is distributed. Current trends are towards shortening the chain of distribution. 

In the past many firms have been what could have been described as product-oriented. They produced a product and spent their energies marketing this product. There was little flexibility for individual customers or segments of the market. Firms now tend to be market-oriented. This means that they are flexible and adaptable to the demands of the market. They aim to change the product as necessary to satisfy their customers.

--END--
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